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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 o awg & ifdw FEw ¥ 170 T BT HE 2 130, g Hr oy e A

The rate of discount on an article whose marked price is ¥ 170 and selling price is € 130

Question 1D ;9864492548

B Status : Not Answered
Ans  2C 1. 23.60% Chosen Option © -

X 2 24.26%

V'3 23.53%

X 42245%

Q.2 qat & o &9 2017 & @i & SEew A 0N A e & @ @ ae

CQuestion |D 19864492299
‘Which team did India defizat in the final of the 2017 Men's Asia Cup Hockey to claim the

titla? Status | Answered
Ans Chosen Option : 2
X 1 qiferEarer
Pakistan
N2 a
Bangladesh
v T
Malaysia
China
e ﬁgﬁ;ﬂﬂ#ﬁ?m’mﬁmﬁﬁﬁﬁr%’ Question ID - 9864493561
The energy stored in a dry cell is in the form of: Chiin z:&:ﬁ i:mmu
- 1 afast F=r
Kinetic energy
Chemical energy
x s s =
Potential energy
4 AfdrT F=r
Nuclear energy




Q4 3w fawe @1 amw #1 = Pewfafes fw & Gt & 5= 7w o §

Question 1D ; 9864494011
Status : Answered
Chosen Option : 2

AN

Select the option that represents the number of triangles in the following figure.,

AN

Ans ?{1 3
X24
X386
vis

O 37 eR T TS H A THE W HafOT F@¥

Question 1D : 9864493684
Status : Answered
Chosen Option 2

PlE|I|O

1 2 3 4
Select the letter which does NOT belong to the group.

PIE|IT|O

1 2 3 4
Ans (1 4

vl
Xa2
p ]

Q.6 aF 2017 & frm sl Soar aew & & fies O o=ime Wy & oWy
FErt & w9 & WEe 92w & e i wed e o

Which Indian tabla player won the Grammy Award for his collaborative music with *The
Silk Read Ensemble” group in 20077

Question 1D ;9864492333
Status : Answered
Chosen Option : 3

Ans
1 TreTer WHET
Yogesh Samsi
5 e gl
Zakir Hussein
| W9 T
Sandeep Das
, R R
Rimpa Shiva

v

x

A7 60 FT 15 % &F 45% & FOET ¢
15% of 60 is 45% of

Question 1D : 9864492746
Status : Not Answered
Chosen Option © —

Ans X1 30
X 2180
X 340



420

Q.8 fw 7r v  wmgEE 1 ¥ @Y @ e s & & R Reefaim
waet & # wte ouee B

o Tt frw o A day g A

Question 1D ;9864493702
Status : Not Answered
Chosen Option : -

A,
1. TdAw # ety wow Bram & 25 @ o H
2. o gtw o w1974 F o g of 3R T 9 35 ww o B

Consider the given question and decide which of the following simements is sulficient 1o
answer the questpon,

What is the birth vear of Mr. Rajesh?
Statements:

1. Al present Mr. Rajesh is 25 years younger 1o his father
2. Mr. Rajesh's sister who was bom on 1974 15 35 vears younger to s father

Ans ,/1
FUF 1 3R FUaT 2 QA Taeg &

Both statements 1 and 2 are sufficient

r
Fad FuUA 2 gIieg § JafF daw FuF 1 F9Aa &

Statement 2 alone is sufficient while 1 alone is msufficient
X3
Faq FUF 1 AT ¥ FATF FaT FUT 2 H9AT §

Statement 1 alone 1s sufficient wlale statement 2 alone 15 msufficient
x o BUA 1 AT HUA 2 gareT g
Either statement 1 or 2 is sufficient

O gorete & T el 7 HTFRTF T HiT WY

The essential organs in a flower for reproduction are:

Question 1D ;9864493077
Status : Not Answered
Chosen Option © -

o PR
the stamen and pistil
| e A gFeT
the sepal and stamen
| e AR TgfEr
| the sepal and petal

- TgfEar 3 F=eE
the petal and pistil

X

X

Q10 vy gy #, 399 ¥ &7 UF A1 # qREfag g § 0
In a plant, which of the following is converted into seed?

Cuestion 1D ;9864493298
Status : Not Answered
Chosen Option ;-

Ans ¥1 m
ovule

x 5 ST
ovary



. Afeteh
style

w_aﬁam:

stigma

5 3

QM 2 greg wer & e 2 3 fraer s i sravawar 12

Ans

How much does one need to add m% to obtain E?

Question 10 : 9864493022
Status - Answered
Chosen Option : 4

X3
Xi=
Vit
X2

| =

Q12 7z &1 & wvw # & I F O FA-E e SR 5

Ans

ST FA #

T

Question 1D ; 9864493885
Status : Answered
Chosen Option :1

mﬁmﬁ'#ﬂﬁriaﬂﬂﬁ:mmﬁiﬂaﬁ:—gﬂm#mmm
T AT A T T

---
1. 9% # A ¥ T a9 sw 4 & e o
2. aF 7 Hrer ¥ e Twh w6
Consider the argument and decide which of the given assumptions is/are implicit.
Argument:
A mather is erying in the hospital as her only son died in a road accident while driving his
ke
Assumpiions:

1. The mother thinks it"s her son’s faull.
2, The mother thinks that God = pot with her,

X1
A 1 AR 2 @&t & sregeror w
Both 1 and 2 are implicit
e
T F A 1 IFTEIOT FaT § AR T & 2
Neither 1 nor 2 is implicit
x3_m AT 2 AT HFLAT &

Only assumption 2 is implicit
o, T A | TN FL

Only assumption 1 is implicit

Q13 3oy Wl & WA gEAT ¥ fvw eiRyE 92 #1 99 F

Ans

BEAK : EIFQ :: SAIL :

Cuestion 1D ;9864493923
Status : Answered
Chosen Option : 2

Select the missing term from the related pair of letter clusters.
BEAK : EIFQ :: SAIL :

# ' VERN



v 2 VENR
X 3 RENV
X 4 VREN

Q14 3 2020 F7 FoisT HT T I & AT g
The calendar for the year 2020 will be the same for the year:
Ans X 1. 2076

Question 1D : 9864492574
Status - Not Answered
Chosen Option ;-

v 2 2044
X< 32096
X 4 2040

A1 Ro v R & w8 T F @y 9w F+7 [

Question 1D : 9864494029
Status : Answered
Chosen Option : 3

Ans

Q.16 = ¥ #9771 vEn wENEE TgE A ofhE W wl F omm w o
T 397 & WY GRS E 7

Whech of the following glows with special colour depending on the nature of gas in the
fhecrescent tube?

Cuestion 1D ;9864493288
Status : Not Answered
Chosen Option ;-

e B
Helium
JEEIEC]

-
Hydrogen



o - HEECEA TG
Bose-Einstein condensate
CollaHAl

4
Plasma

MR Al 1” T P AT T FT FE A E Question ID : 9864493503
A sound of single frequency is called a: Status - Answered

Chosen Option :1

Ans x ) Eia

Hertz
o=

Pitch

AT

Note
v o

Tone

X 2

X3

1% 6561 @T FANHe AT FM? Question ID - 9864492743

Status - Answered

‘What is the square root of 65617 Chosen Option : 1

Ans o 1 81
X277
< 389
X479

Q.19 w20 Trdimm 3 <0 T o= oot 2 avget & o sk W o - .
e gom, afy 3o @ gf 2deT @ Question 1D : 9864493380

; : 2 o Status : Not Answered
What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them? Chosen Option ;-

Ans X' 1.16.67 x5 1°N
X 2667%x10°1'N
X 316675x 10711 N
v 416675 x107°N

QW e FEw ABCHI DI R i Fmm w168 asdfr & ) 1
T os ¥ c 3t o = 3w T oA CQuestion ID : 9864492818

Four numbers A, B, C and D are such that their overall average is 16, The average of A SiaflNot Anawerad
and B is 9.5, The average of C and I is: Chosen Option ;-

Ans of1.225
X223
X 3255
X 4215

Q.2 e T TR SR R S e T §| T T o P @ e R sraw

: Status : Answered
A pipe can fill a sump with water in 2 bours. Because of a leak, it took Zghwu‘noﬁlllhe Chosen Option -3
sump, The leak can drain all the water of the sump in: i

Ans x1_ ﬁ'e'i'é.'

6 hours



Q.22 -p oy FEE O U OO E, R P @ o v ueTeew qOTE 0w Er
s rEnst ST s s A R e i w e b

‘P is the smallest positive integer such that every positive integer N greater than “P' can
be written as a sum of two composite numbers. Then ‘P is:

Question 1D
Slatus

Chosen Option :

19864492604
:Not Answered

Ans x-. 3
v 211
X336
X410

Q.23 5442673314884743581 wifta & Zf 0 ¥ ¥94 92 & @0 # oA eG4
E-e g

In the series S4426733 14584743581, the number that is sixth from the left of the seventh
term from the right is:

Question 1D
Status

Chosen Option :

19864404385
:Not Answered

Ans 4’1 3
X227
X34
X 41

Q.24 Tt T g & T TR W fenh Ry ¥ 3 of @ afnedw e A
afr S

The tendency of undisturbed objects 1o stay at rest or to keep moving with the same
velocity is called:

Question 1D
Status

Chosen Option :

198644093199
:Not Answered

Ans
X1 -
velocity
i ™
force
X 3 SER
momentum
S

nertia

v e

Q.25 e sire g Wi e 2017 F ¥ T A Sher
Which Indian won the 2017 French Open Super series tourmament?

CQuestion 1D
Status
Chosen Option

9864492250
:Not Answered

51
George Thomas

| HATEHR T

 Anilkumar Raju

v i R
Srikanth Kidambi

X4 ARy sTETETd

Dipankar Bhattacharya

x




Q.26 Eﬁ"ﬂﬁ“ FAFET %: Question ID - 9864493136

P Status : Not Answered
Growth hormones function:

Chosen Option : -
P 1 R ey U FFTH
always as growth inhibitors
X2 T FE IEEF F T H
always as growth promotors

, T Pl e STEEs FFIH
rarely as growth promotors

g
F3fr-eh R deaes i -l e seivE S e A
sometimes as growth promotors and sometimes as growth inhibitors

x

Q.27 @1 Tl 9% U 9 F FR H AT wA@ E 2 I RRAaITEE
Which permanent tissue makes a plant hard and stiff? Status : Answered

A TR Chosen Opfon 4
e

Sclerenchma
TIAFRISHT

| Aerenchyma

NeFrsAT

Parenchyma

FITARISHT

| Collenchymas

r W

53

4

Q.28 1 2 o
sin 30 + 1+ cos 20 =
1 + cos30® sin3o®

Question I1D ;9864492877
Status : Answered
Chosen Option : 1

sin 30° 1+cos30°

iy

1+ cos30® sinan® g
Ans x1 1
X 22
X3
Vi

Q.29 grafr 2018 ®, A F9r & W A7 F @i #a Question ID - 9864492174
As of February 2018, who is the India-borm CEO of the Nokia company? Status - Answered

Ans =T q:& Chosen Option ;4

W
Rajeev Suri
5 2 il !
Sundar Pichai
, I CEC
Satya Nadella
, FrreTe g &=
Ajaypal Singh Banga

X

x




Q.30 xiﬁraﬂ?ﬁhmyz’.‘rmt K # A F e dE w9
T v X oW Ed
Pointing at X, Y says, “X is the son of the only son of my mother™. Then Y is X's

Ans K1 H.ré.

Question 1D : 9864493808
Status : Answered
Chosen Option 1

Q.31 v AR EFE 71 ¢ 10* He B iR 3T 30100 Ay Wi #FE i A et
RIS A § A A g

A broadeasting station transmits waves with a frequency of 71 = 10* Hz and a speed of
3=10* m's, The wavelength of the wave is:

s x 1 3246 Hrex
324.6m

, 4188 M
418.8 m

x 3 2084 Hrex
208.4m

v 25 A
422.5m

X

Question ID : 9864493104
Status : Not Answered
Chosen Option ; -

Q.32 o & B foee fist & 2 oeldw & v oF maw e w o ok
¥ =u fiees &7 wow &1 5 faw B & fr e e R () 9w

4]
101 43 45 ]
T
35 15 58 184
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can repiace the question mark (?) in figure B,

QRO
Ans X1 12'?
<2136
v'1142
X 4128

Question 1D : 9864494259
Status : Not Answered
Chosen Option ; =

OB refafaa ¥ fQua & 9gae +&
Identify the odd one out from the following:

di
. O R
Air
Xz.qj
Milk

Ans

Question 1D : 9864493407
Status : Not Answered
Chosen Option ;-




XEﬁW“@
Alloy

v el
Water

Q34 frelr oftqy & fege vae Fws ganr @ g 22

What enables an electric current to flow in a circuit?

CQuestion 1D : 9864493325
Status - Answered
Chosen Option 4

S
The motion of positrons
x ; 75 Fr A
The motion of neutrons
;ST A
The motion of protons
. T &

The motion of electrons

Q.35 #iF #1 I9-HFTT (Answer Figure) & 7§ Wa-37 (Problem Figure) &1
T T WAt 7

Question 1D : 9864494063
Status : Answered
Chosen Option : 4

Protilem Figire
A

# |

AL

Which of the Answer Figures is the correct mirror image of the given Problem Figure?

Problem Figure

2

Amswer Figures

elelzle
Ans };1_53 : ;
XC
N 3A
v D

W

QY amasswemedrst s i afiaw s
far 4 s fir wr § it olts Tee Seer & TT 1 i amer e A X
zam T v e I i we 4l
X attempts 94 questions and gets 141 marks, If for every comrect answer 4 marks is given,

Question ID : 9864494021
Status : Not Answered
Chosen Option © -

and for every wrong answer 1 mark is deducted, then the number of questions wrongly
answered by X is )



ans X 145
X257
Va7
X 4 40

Q.37 fafie Wikt ganr S v det & Few Soatates it F & b Question ID - 9864494126

Status : Answered
Chosen Option ;2

wAE | ot | afevr | of | oftew | =R
1 A 40 |37, 35 27
2 B 6 |26] 76 | 86
3 c | & || 4 21
4 D 1 |7 3 11

aifee & aimet & sun w eatas o & 9o 0

o B & &9 & Fud e #eE S
Panties and the seats won by them are listed in the following table.

5. No. |Party | Sonth | East | West | North

1 A 40 37 35 27
2 B & 26 76

3 C 83 71 4 21
4 o 1 T 3 11

Based on the given data, complete the following sentence:

Party B won the largest number of scats from the

Ans x 1.m

South
W i
North
F 8! TRam
West
o @
East
Q.38 :miw 14mm;:bmmfhﬂﬂ¥ 4576 §1 A, FAfE o7 TEETE Question 1D - 9864492546
; Status - Not Answered
ime will ¥ 4 i &l
;Lu“ﬁlm 1T 4400 become T 4576 at 8% per anmum interest compounded half Option : =
Ans ?{1 THRE
7 months
x 2 199
1 year
x 3 23y
2 years
v 67
6 months

Q.39 ;
Question 1D - 9864493838

Status : Not Answered



Ans

vy i 1o i 31 s T 910 & AT HTRTOT S

Fra:
s F% wauw st wEh O ey s S w5, S gee S e
FHAT

feremd:

1. FAE & wauw AT 5RO S0 S T & e i

2. wEUS ® wHEE & wry wEEe & & @y & SR wmie)
Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statement:
A company canssol make profit unless both, management and emplovees work together,

Conclusions:
1. The workers should be advised to cooperate with the management.
2. The management must be advised to cooperate with the emplovees.

Faor frmd 2 ITEROT T @
Only conclusion 2 follows

xgmw1 HETOT FLAT §

X1

Only conclusion 1 follows

(TA AT & 2 e F §
Neither 1 nor 2 follows

1 A 2 At e FE E
Both 1 and 2 follow

X

v

L

Lhosen Option -

Qi) raffe A & w7 oewy o & s & At = # @ v A ar?

Ans

Who amoeng the following was NOT one of the “Nine Gems' of Emperor Akbar's cournt?

" HIA-BAA Fead HINH
Abu'l-Fazl ibn Mubarak

x 2 HhR AHferst-fea
Fakir Aziao-Din

7 T 3T W
Osman Ali Khan

X 4 =T 2T Hel
Raja Todar Mal

CQuestion 1D 19864492093
Status : Not Answered
Chosen Option ;-

Qa1

Cuestion 1D : 9864494130
Status : Not Answered
Chosen Option : -




Ans

SR =N
AQ UV

Tar v ot 7 & welw & THE UF AW 39T & T AW wEE A
Fafer fmm = & @ S wEp T A ® Fi A

Q9O R
ﬂQyI‘T’IV

If three groups could be formed using the given figwres only once, these groups would be

x (2,9,6), (34,7 s (1, 5, 8)
(2.9,6).(3.4, 7)and (1, 5, 8)

x,(1:9.4), (3 4,6 (258
(1,9,4).(3.4,6)and (2, 5, 8)

v.(1,9.6,647 AR (2, 5, 8)
(1,9, 6), (3,4, 7)and (2, 5, 8)

x, (1,968,657 A (2, 4, 8)
(1,9,6).(3.5,7)and (2, 4, 8)

Q2 e s i Esiri= S

Ans

Fi H R T E

o =R P, O, R, S 7w T fredt ofes & @2 &1 offs & oo & #i7 1

Lp ot

LTHadi¥w o n
2P THFmMIASH

Consider the given question and decide which of the following statements s sufficient t
answer the question.

Five people, P, Q. B, § and T, are standing i a line; who is m the middle?

Siatenwenis:

1. Qistothe left of T,
2, Sis in between P and T,

b B
FUH 2 A 1 I & WA W I & A e § Teg U 1 A f
I9T % WA W oo & A WETH AR 8
2 alone 15 sufficient wiale 1 alone is not sufficient to answer the given question.

5z
w1 A w2 S f SUT F W & Ioow & F meE
Both 1 and 2 are sufficient to answer the given question.

7~ 3
FYA 1 3§ T F O W Il G A WA § g w2 e @

ST & W S oA & A meTE A A
1 alone is sulficient while 2 alone is not sufficient to answer the given question.

Question 1D : 9864494103
Status : Not Answered
Chosen Option © —




o
A A YA 1 T AT FUA 2 I F N W I & F e
MWeither 1 nor 2 is sufficient to answer the given question.

Q43 pH a7 F 7 ¥ 14 F f g Ry Tww RRRE s

Ans

The pH value increase from 7 to 14 represents a:

Question 10 : 9864493330
Status : Answered
Chosen Option 31

v, O 3o B # i
increase in OH- ion concentration
x, H 3T Wigar # g
increase in H™ ion concentration
x 5 OH 3= qgar # FA

decrease in OH- ion concentration
4 H* 3mae |igar & AT

decrease in H™ ion concentration

Q.44 #rd 2o oo FuAt Frowd A ow Fotr 5 ot @ st § et

Ans

T TEETE FY R aTRe B T R

FUHA.

Question ID : 9864493667
Status : Answered
Chosen Option ; 4

mﬁmmaﬁmmmmmaﬁm@mmh

forew:
1. Fr% o #E wE AR
2. F o #F Faw A
3. FU wWAt ¥H #)
4. @ w7 WA R

Consider the given statements to be true and decide which of the conchusions legically
follow(s)h from the statenients,

Statement:
Mo mango is an orange. Mo orange s an apple. Some mangoes are apples.

Conclusions:
1. Mo apple is a mango.
2, No apple is an orange.
3. Some oranges are Mangoes.
4, All apples are mangoes

N
Fad Ay 2 iR 3t Fr U B W &

Only conclusion 2 and 3 follow
b
Faor fosedy 1 AT 3 FT UTeleT & WT &

Only conclusion 1 or 3 follow

| Fad sy 1 & arae & @ §

Only conclusion 1 follows

Jllmﬁmzwwa‘rw%

Only conclusion 2 follows

X

Q.45

Ans

af v A AR A g e g ¥ i v e e
& 5 i I Tl A AT e S T e anns F e Rem
TR

If 1 15 the current throwgh a wire and @ is the charge of an electron, then the number of
electrons crossing in ¢ seconds will be given by:

Question 1D : 9864493106
Status : Not Answered
Chosen Option © —

X 1 Ite



v 2 JIt/e
< 3 et
< 4 Jeft

Q48 2T 71w 7o FAEt F HEfU A A aefea 92 & o ST

RAaMA @ MARA ©: SITA :
Find the missing term for the related pair of lemer clusters.

Question 1D : 9864493746
Status : Answered
Chosen Option 2

RAMA : MARA = SITA:
Mk of 1. TISA
X 2 TSAI
X 3 TIAS
X« SIAT

Q4T &y ar§ FEEr sEen ¥ HATRUS FEAT F I H

Question 1D : 9864494273
Status - Not Answered
Chosen Option ;-

4,9 20, 44 7

Select the number missing from the given number series.

4,.9,20.44.7
ans X 1.90
V295
#3100
X4 80

98 i@ & & #ia ar 9T FT § 2
‘Which of the following salts is acidic in nature?

Question 1D : 9864493449
Status : Not Answered
Chosen Option ;-

e, R Tt
Magnesium Sulphate
| Fferas wiese
Ammonium Phosphate
X 3 aftgs vdre
Sodium Acetate
v . SfFEA FElae
Sodium Carbonate

x

Q.49 Fr=fafam & & #i9 @ urg & o T o F wy e A s o
Which of the following metals does NOT react with cold or hot water?

Ans
i tmg:hﬁ’m:r

Question |D : 9864493311
Status : Not Answered
Chosen Option ; -

Aluminium

Xz UERE
Sodium
x 3 Formw

Calcium



irALieir=

Potassium

X 4

Q.50 & ¢ wyF-HET (Problem Figure) & 7§ Ieo-HpiaaT (Answer Figures) #

# uw & wiewiga 1 9% Teo-METa wh A A7 Question 1D : 9864494081

Status - Mot Answered

Chosen Option ; -
Problem Figure plic

1

Answer Figures

L4 VX

A B c 2]
The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

1

Answer Figures

b1V [X

Ans X"-D
X2A
v:B
X4C

Q.51 a7 2018 ¥ Fgew wow wfe & offss o Faw s (owava) = . ]
2 : APdr Cuestion 1D ;9864492426

Which Indian-American is the chaiman of the prestigious Federal Communications Status : Not Answered
Commission (FOC) of the United S1ates as of March 20187 Chosen Option : -

A
=, N T
Neomi Rao
T u%
Ajit Pai
X 3 T FAT
Seema Verma
X 4 #Arer =St
Neil Chatterjee

v

52 mm mﬁ- m "@3# m‘“ T
k 2 ﬁ ET W& ?’ Question ID : 9864493533
Metals are placed on which side of the Modern Periodic Table? Status : Not Answered

Ans * Chosen Option : -
X 1 el 9T
Bottom row
v T A
Left side
, 390 gfea
. Top row
X 4 ardr AR
Right side

x




Q.53 =fy ABCD T TR T 8, T cos’A — cos’ 8 — cos’C + cos’ D FT AW F0 gEM

Ans

If ABCD is a Cyclic Quadrilateral then the value of cos®A = cos® B = cos®C 4+ cos?D is;

v
X220
K32
X4 -1

Cuestion 1D : 9864492556
Status - Not Answered
Chosen Option ;-

QM sy w sl s AR u st s wF w1 w1 A

= & @ e 3w vE e = wr o B & eRee v = e

AT & A e gt fr s @i

A piece of work can be done by 16 men in 8 days working 12 bowrs a day. How many
men are peeded to complete another work, which is three times the first ope, in 24 days
waorking 8 hours a day?

Question 1D : 9864492449
Status : Not Answered
Chosen Option © —

Ans 23 ‘T{ﬂ'
i
23 men
x 22 Fﬂ'
2
22 men
x 25 E'FH'
3.
25 men
v 24 EFW
24 men
Q55 geh g =7 Question 1D : 9864493502
One Watt = ? Status : Not Answered
A 1 aﬁ i Chosen Option ;-
G
1 erg/sec
75 T ufa s
1 Joule/sec
i ] Hret ufa s
1m/s
x o 1 AR ufa A%
1 Pascal/sec
Q.56 Fedl 1 Sevih STRIV] FETATH & HIUR O il w0 S e e Question 1D - 9864493214
The credit for classifying the elements on the basis of their atomic masses goes to: Siatus Not Answered
e g, S SR S
1
Dmitri Mendeleev
x , T ot
John Dalton
X3 5
Johann Wolfgang Dobereiner
x o TelFes fT FRlEw

John Alexander Reina Newlands




Q.57 mrretamd (MasterCard) 3 T Frd=rir sfterr #T sncmer (2018 Iy e
As of 2018, who is the CEO and president of MasterCard?

Question |D : 9864492348
Status : Not Answered

Ans v Chosen Option ;-
e weTeia g
Prabhjot Singh
X 2 3
Waris Ahluwalia
s o faE
Darsh Singh
v FHerarer fig &
Ajaypal Singh Banga
Q58 oz ot former Tt @ it =7 gl Question ID : 9864493888
Status - Answered
- 3“;- e wﬂ' qﬁi' Chosen Option ; 2
w0 W | ot | aflor | gF | ofew| 3w
1 A 40 | 37| 35 27
2 B 6 |26 | 76 86
3 C 83 | M 4 21
4 D 1 7 3 11

The Party which won the highest number of seats is

Parties and seats won
Serial | Party| South | East | West | North

No.

1 A 40 37 35 27

2 B 6 26 76 86

3 C 83 71 4 21

4 D 1 7 3 11
Ans 1 A
v:B
X3D
X4C

Question 1D : 9864493682
Status : Answered
Chosen Option -4
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Problem Figure (F3s-3T5T)
Answer Figure (eT-3gTT)
From the given four figures choose the correct water image of the below figure.

Problem Figure

KX

Answer Figures
SR Gy
Ans B A
X2 A
X3B
viD

2% frrr T L

36 - [18 — {14 — (15-4 + 2x 2)}]

Question 1D : 9864492579
Status : Not Answered
Chosen Option : —

Solve the following:

36 — [18 — {14 — (15- 4 = 202)}]
Ans o 1. 21

<220

X323

X422

Q8 Fod Aol T s A RN s A T O T aE
The least number to be added to 435 to make it a perfect square is?

Ans X18

Question 1D : 9864492560
Status - Not Answered
Chosen Option © —

X 24
X33
vie6

Q.62 ol wia & urg srawmeE § S sneat & wry-wry A & vy o afafE s
Metal oxides which react with acids as well as bases are called:

Question 1D : 9864493212
Status - Not Answered
Chosen Option : -

Ans =
X 1 & JHTFATEE
Basic oxides
v: TFERIE T JHTHTEE
Amphoteric oxides

ximsﬁwrss

Acidic oxides
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Which Indian state is the largest producer of Soyabean?

Question 1D ;9864492108
Status - Not Answered
Chosen Option ; -

i x | IO geor

Arunanchal Pradesh

~ oz m Lol
Himachal Pradesh

v HqeT geer
Madhya Pradesh

X 4 -3'"!1' ‘ila'!l'
Andhra Pradesh
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Question 10 : 9864494237
Status - Mot Answered
Chosen Option ;-
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Select the option that will correctly fit in the blank space in the given figure series.
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Cuestion 1D : 9864494067
Status : Answered
Chosen Option : 2
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Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Siatements:
Some carpenters are plumbers. Some plumbers are daily wage labourers,

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

1_;rr-t‘H IR T & 2 IHTEIOT FA B
Neither 1 nor 2 follows.

1 3R 2 gt e A
Both 1 and 2 follow.

a Faor AHY 2 HFETOT FIAT E
Only conclusion 2 follows.

, e frshd 1 ST F ¥

Only conclusion 1 follows.

Ans

x

v

X

x
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Question 1D ;9864493779
s oo Status : Not A d
If all the letters “D E M W™ are amanged to form a meaningful word then the last letter of E it
the word will be: Chosen Opfion ;-
Ans o 1M
v:p
X 3E
X 4N
Q.67 7fy sew st Twr & dr # 187 F 12 F g & Powfae B o
Question 1D : 9864492946
At T @ R T ne .
If ¥ 87 was divided between James and Radha in the ratio 1 : 2, how much money did Status : Not Answered
Radha get? Chesen Option : -
Ans JH, ?29
X 23%57
X 3 %59
X 4358
Q.68 2 : - #
s s k=0T A AR T e R & ® T i oa e
7 ’ Status : Not Answered
Ifx* + kx + k =0 has no solution, then the value of k will satisfy: Chosen Option © —

Ans 1 0<k<4

O<k<4
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k>4
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Which Indian chief minister was awarded the 'Transformative Chief Minister Award” by
US-India Business Council (USIBC) in 20177

Question 1D : 9864492357
Status : Mot Answered
Chosen Option : -

Ans X 1 ECIGERFGIEED
Naveen Patnaik
2 iilﬂ[l“ L
Siddaramaiah
v IgaTg ATIE
Chandrababu Naidu
xoF TEAET T

K. Chandrashekhar Rao

Q70 37 7 THF F 9U4 F{ W PR I By & oReie e

Question 1D ;9864494160
Status : Not Answered
Chosen Option : -

Select the correct set that represents the following Venn diagram.

&

O
Ans J-,
T, §ET Faa, Rifee e

Office boys, government employees, educated person
sfeet, FAeed, T
y
Doctors, human beings, cows
s, T e, sty
Males, fathers, doctors
4

Cat, toys, girl
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Question 1D : 9864492811
Status : Not Answered
Chosen Option : -

# TH 55 UE Wi 9T B & FRee OE g@mr e

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were ftumed on. Afler a few hours Pipe A was fumed
off and Pipe B was turned on instantly. In all, it ook 55 hours 10 fill the cistem., For how
many hours was Pipe B turned on?

Ans x 1. 30
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Q72 15 wralt 2018 ® e #1 18 3w, 2019 F Fa @ Re F?
15t February 2018 is a Thursday. On what day will 18% April 2019 fall?

Ans ¥ orfaaT

Question 1D ;9864493034
Status : Not Answered
Chosen Option : -

| Saturday
TqRET

2
Wednesday
YshaX
3.
Friday
LIREIES

Xa
Thursday

» 2

X

Q.73 2017 & v w3 Fo=ow w1 oaas
wi &7
Whe is the author of the Indian English Novel ‘Sita: Warrior of Mithila" published in
o

Question 1D ;9864492201
Status : Not Answered
Chosen Option : -

Ans
. qTT T
Chetan Bhagat

V2 fer Fardr
Amish Tripathi

X 3 TTereT orAT
Robin Sharma

. TES g
Rahul Mehta

Q.74 37 fingwr = Swww T #1 vk ok (2, 4), (- 3, - 1) AT (5, 3) Baw v
i
The area of the iriangle whose ventices are given by (2, 4), (- 3, = 1) and (5, 3) is:

Question 1D 9864492855
Status : Mot Answered
Chosen Option : -

Ans - 20 T SSHEAT
20 sq. units

2_14#33:@#
14 sq. units
10 = g
Jlﬂsq.units
, 7 = g

7 sq. units

x

v

X

@78 576 =T FHST FAT E 2
‘What is the square root of 576?

Question 1D ; 9864492663
Status : Answered
Chosen Option : 4

Ans X 1.26
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